-3

= 02840 A 0.2F : :
S .k z F | 5 5
PN RIS ) | S EEEAREEEE SEEREEEE - F0.15F---- I 3
S E o E : : :
el - ... . -
° 0. v 0L ' : :
0.05F 0.05F - HI 1 {|k 1
o oFHl-HHI :,
-0.05F-{HHH ~0.05F - #ft-{HIHTT 3
g f I o ffl- I
-0.15F 1|t -0.15F - 1°[}

9_022: o bof X bl by 9_022: L | L1 o 1 | b o o
1 s : : Z . 4

stk . FIC T ol
O: ! R El | O- . i |

-3 -2 -1 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsDC1000time__RECO

g ].OCE g ].OCE
= 80 = 8O e
N N L
2 60 N 60
= o O F
° 40 v 400
20 20
0 oF
-20 —20H]
-40 40
-60 -60F
-80F -80H]
o—lQO:' . o—lOC:' : .
E : s 15F-
r i T
o 1:—'
0.5F- 0.5F-
o3 3 o3 T 0 1 2 3

TP n (PCA to beamline) TP n (PCA- to beamline)

<OpIp.> (Y
PP, > (Y0)
O = N W N O

[V B R | LA RS RARAD AL RRRN LAY LLAAS RARAN RARLN AL

3
TP n (PCA to beamline)



	Contents
	Page 1


